BEXERSE (HT4IE)

SMIFAR1BEE

[(EX] . .
s INERH PR
e &5 EER |G| BER R e
H|EERAE—TH a8 =A
BEAA_TH a5 =
HFELSA=TH B =
FESANTH a5 =
HFELSARTH B =
SEaflANTH = IS
BEAE—TH a5 =
BELSE_TH B =
FELSE—TH B =
BEASE_TH a5 =t
BELSRE=TH B =7
7 = BT 1&~9F BA aE
G =L} 10&~12% g iy
D=Ll 13%& EA aE
7 I HT Il [Bl%
7r S BT BmA aE
W|E*X—TH B b=k 3
SHE=TH BA aZx
SH=TH A hE
FAE ) ) =
B |ZNM—TH Eirhq =i
EZW_TH Eimp R =
A/ ET 1&~3% {EDOH =
KAET 4% {EDSH hE
A AHET 5&15~10% {ED>H =
At ET 5&%1185~24% {EDIH =i
A AHET 5%&2585LF {ED>H 8=
KAET 6&~14% {EDSH hE
A3 A BT Eihq EAN
RAHT ) E N
M AEW—TH BE& oy =
FW=-TH AR —_5
AIL=TH [ —_B
ST 1%&~3% Il [B1¥
L EHET 4FE~178 NG B3
BAA—TH BEAH =L
BEAEH_TH BEAH -5
BAA=TH BEAH =L
BEAAMNTH BEAH -5
= |dtE—TH Eihq =i
IEZTH EHidgpR =
db =0T 1&~3%& L N =0
Jb Z=HET 4E~GHE ZRHET =10
db =0T 7B ~9E L N =0
Jb Z=HET 10&~13%& RET =i
JtiEHT Z Dt iR =

153



BEXERSE (HT4IE)

SMIFAR1BEE

€RINEY .
.o INERH
e 5 EEh | #ak kel

Ll TRl
Ak D {EDSH
KEDS>HHFLR {EDSH

C [/NEAFTET TRiE
INRET 1&E~138% NG
INRHET 14F15~15%5 \%=)
INRHET 14%168~22% i)
INFOVOVEND—TH VUED =8
INFODUVZEDZTH VUED =4
INFOVUVEND=TH VUVED A
INFODUVZED=TH VUED =4
FRAT EWhR EEN
36 H BT NG £3
i5E_TH VUED H
EE_TH VUED
SBE=TH VUED
EEMTH VUVED
TIRHET IR
TRHET NG
TIRHET IR
TIRHT : NG
TR HET 10&/~1 1% Fris
IAAH ZEHT =
Bz@E—TH {EDSH =
EZ#E_TH 1&~20% {EDSH =i
1EZ#E_TH 21%& CEDSH =1
EZ#E_TH 22F~27& KEDI2H =i
EL#E_TH 28F 15 {EDOH =
EZ#E_TH 28%2% {ED>H =i
EL#E_TH 28FE3FLE {EDOH =
EZ#E_TH 29%& KED2H =i
EL#E=-TH 1&~8% {EDOH =
EBL#E=TH 9&15~40% {ED>H =i
EL#E=-TH 9& 415 {EDOH =
EBL#E=TH 9%4 251 {ED>H =i
EL#E=-TH 10&~12% {EDOH =
BL#E=TH 13&8~14% {EDIH =i
=283t—TH BE =4
=24 =TH = =A
=2814t=TH TE =A
BEfl—TH TE =A
EZEm_TH E =8
2BR—1H =4 =8
BZER_TH BE =A
BBAR=-TH B8 =8
BZERMTH ISE] =A
BEE—TH BE =A
BBE_TH B8 =8
BEmE=TH BE =A
EZBAEIETHE B8 =8
BEEATH ISE] =A




BEXERSE (HT4IE)

SMIFAR1BEE

€RINEY -

= INER A
& -5 EEh | #ak kel
i B BT INE
EFA—TH AR
BEFA_TH EA
= 7N T BA
)| HT g
o 4 ET NG
JEITHET RET
/AR Il
sl E5 i) RET
7 K e T 1%&~13% _5
78 X T 14&1E8~37 5 -5
7 K e T 14&385~455 BEA
78 X T 14F 4650 E -5
7 K e T 15% _5
il 1&E~5%F RET =
A A ET 6&1E~18% RHET =
icpiliing 6&F198~39F NG G
A A ET 6&A405LLE RET =
P A AT 7815~12% PRET =
A A ET 7&13%8 ING [Al;
P A AT 7%&145LE EHT =
78 (HET 8&1E ZRET ES
75 (I HT 8&¥2E5~135% INE [l;
A A ET 8&1485L.E RHET =
gl 9E1E5~39F% ZRHET =
A A ET 9&A408~65%7 NG [A] 5
P A AT 9E665LLE ZRE] =
P A ET 10&~18% EET =
Bl—TH 1&~5% N =
Bl—TH 6&B15~115% N =
BW—TH 6&1285ND—1R )\ g =
Bl—TH 6&12EN— EDIH =
Bl—TH 6%X138~37%5 =D H =
Bl—TH 6&%388~39% NS =
Bl—TH 65405 KEDSH =
BlL—TH 6H/A41E~478 Wk =
Bl—TH 7% KEDSH =
BlL—TH 8 & ek =
Bl—TH 9F~18%& KEDSH =
BWL=-TH 1&~12% R E=)
BW=TH 13%& RHET =
HW=TH 1&~3% R =
BIL=TH 4% ZRET =
HW=TH 5% HpR =
BIL=TH 6 & ZRET =
HW=TH 7&5~8% Htg =




BEXERSE (HT4IE)

SMIFAR1BEE

€RNEY| . .
s INERH PR
i i EEG |moE| BEE [BaR|
X |2H—TH TtE )
EH_TH 1tE oy 2
EBA=TEH 18~4FE RS 4 H —E
EBA=TH 5%185~43% 1t&E -5
EBA=TEH 5&4 480 F RS 4 H —BE
EH=TH 6 & BEA4H -8
1 A BT RET =
EHER—TH Il e
TEHER_TH L AL
EHR=TH Il e
JERT—TH Hidgg =
ERZTH i =i
ERI=TH Hidgq =
RAT 1% ZERT =10
[ ] 28~178& Ir I mF
[OYEYUY=1:i TRl [EIpES
BT ZEHT EE N
®_EB—TH oy -5
R_BE_TH ) -5
E_B=TH -5 =5
R_EWMTH ) -5
B_BETH iy -5
VUED VUED A
VUvEDI VUED =
VUZEDE—TH |18B~4F VUED AN
VUEDOE—TH |3 VUED EI
VUEDRE—TH _|—3F *8 eI
VUEDE_TH VUED EI
A ZEAT—TH 18 ~12% RET =i
ZRE—TH 13&~14%& IRl M
EE—TH 158~16% ZRET =i
EE—TH 17&~2 1% Ir I M
FE_—TH 1E~9F RET =
EE=TH 10&1E~14%5 RET =i
FEEI—TH 10&155~275 Il m#E
ZREI—TH 10&285LE RHT =i
B/ A—TH AR RE
%/ A—TH A i
i’/ AK=TH B b=k 3
—_E—TH 1&~2% -5 -5
—&—TH 3E~4E BAEH B
—_B_-TH 1&~3% -5 -5
—_BE_TH 4 % HE4H -5
—E=TH BS 4 H —E
—EWNTH HE4H -5
—ERTH BS 4 H —E
—_ERTH FE4 H -5

156



BEXERSE (HT4IE)

SMIFAR1BEE

€RNEY| = =
= INER A FER A
% -5 Erh | #ak| BEk |AaR| e
A |EEI—TH 18~26% {EDS5H =i
SEI—TH 27&~28% KED>H =
HREI—TH 1%~2% {EDSH =0
SEI—_TH 3FE1E~225 {EDSH =i
Hei—1H 3%23%8 {EDSH =0
SEI—_TH 3&¥245LE {EDSH =i
Hei—1H 4% {EDSH =0
SEI—_TH 5&1E~958 {EDSH =i
HAl—TH 5&%1085~26% KED2H =i
SEI—_TH 5%&2 75kt {EDSH =i
HREI—TH 6&1E5~635 {EDSH =0
SEI—_TH 6%6 45 {EDSH =i
HEl—TH 6&655LE {EDIH =i
HEI—_TH 7TE~26% KED>H =i
IF[ABI—TH N E N
AEIZTH Hingd =i
AEBI=TH 1&E~3F N =0
ABI=TH 4%&1B8~155% iR =0
AB=TH 41%Z168~19% {EDSH =i
AE=TH 4%F2 085 E EHRR EZEN
ABI=TH 5&~6%E e N E N
AH=TH 7&15~35 N =i
AB=TH 1HEALE~28%F {EDSH =i
AE=TH 7&298LE EWHRR =i
AB=TH 8 & {EDSH =i
AH=TH 9&~11& Hingd =i
ABI=TH 13%& HH R =0
H#|E_B—TH _5 -5
BE_5_TH -5 -5
B_5=TH -5 -5
BE_EWNTH =2 —B
E_BARTH -y ) —_B
= AITET NG M5
EA—TH 18~2% {ED>H =
Bi—TH 3&F~4E B i
=A—TH 5&~6%H {EDSH g
ZEA—TH 7E~8%E A iE
EA—TH OFE~14% {EDSH =
Bi—TH 15&8~18% B i
EA—TH 19% KEDHH =
ZEA—TH 20%& BA A=
EA—TH 21%&~23%& {EDSH =
Bi—TH 24F~25% BA i
EA—TH 26%~33%& KEDHH =
ZEA_TH BA 8=
X | LLFHT 18~4 5 EHINRG =0
LLIFHT 5&~6%H {EDSH ERN
WL/ EHT ZRHET =
W | B & %HE BA =
& |FAIET BA =
1 | FO M BT {ED>H g S

157



BEXERSE (HT4IE) SMIFAR1BEE

[EHX] - -
.= INFIRF PR
ka il ERk |Hok| Eek (ko] o
FEE A]]] GEA
FHE ]l HGEIA
FRH HihPR EZEIN
FRE tE E (A
FAER 398&EMhD2 o =¥
FAERE Z Dt al]]] hGER
FINL 1&th~19 4 2% =] [E%
=N 3006%&EMLE NG GIpE
FIN Z Dt itE hGER
AFZA al]]] hGER
FINAE —3F TRl [[¥
A —# NE L
S OUEQ [ BE | &R TEHE |
KFELE 1&H#h~8 0 3&Fih CED2H =i
AFEELHE 80 4&EH~82 2%H | EWchRr =il
RFEZH 8 2 3 &ih KEDIH =i
FELHE 8 2 4 #ih A NGES =1
FELHE 8 2 5 &t KEDIH =i
FIEZHE 826 &M~ 100 4FHM | Eirhh =m0
FIELE 108 9&MLLE PRHT =0
Fas & =2
RFEMI s HGEIA
AFEH tE AL
FEH 80 0%EM~80 15 s HEEd
FEH 8 0 2 &ith B54H -5
FEH 8 0 3&/Hh~9 9 o9& 1tE FEAE
FE2H Z Dt itE -5
N TEW~5 1 3% e iZE
i1 5 14%EMh~64 4FEH ANl AL
T 6 4 5%FHh~69 0FiHh VUED Bl
FihJIl 69 1&FH~7 3 3FH 1itE AL
FHLJ1] 7 34 &M~ 7 3 6 &M al]]] hGEA
AEBEA 1%~ 1 3 8 &Eith KED>H =
KEFEBEAR 340&FHM~483FMth ([{EDHH =
AFER 4 8 4FHh~4 95 Fih BA i
AFEKR 496F/M~49 78N |{EDIH 8%
KFBA 49 8% A RE

158



BEXERSE (HT4IE) SMIFAR1BEE

[EX] . .
s INERH PR
i1 % &5 EER | #ak| Bek | nag| e
AFE= 1&#h~ 15 0&FH ! —_g
AF_— 15 1%~ 15 5HKth BEA ax
AFZ 15 6&FME —B —E

159



